Q3COHWOIDITRTOTIZ TEE: 2023-24

=
Db AR RTVY(24)
Beoon: 3noE 152DINDLERTHN0-43 nogwosnw:80
YCI N ok
1. =3 ®mosl, 100315 TTSRITPEND 2.0 BOSRE LVITIT, =08, AeELr BAWTRNG

1)

2)

3)

4)

DTRPFARD 2.003503 ézsg LOITRTY, QRT3 , DTRHPEOID W3T BRT OBTTTY, TR,

Zonedxeen 3.

@d%&)dé BeT T8, Seaue,
Q -0 %Y

e
a
-
53

53] J@ﬁ%@oé@osﬁ%oaﬁ QWO
& Q5083 amz@rﬂepﬁ TR, somfos:g%sos%u, 42 =343 (weg@gsz:"w" QPNAOR)

)
TBTWEODERTODIVTRNG.

FINTWTECHTZHRYRevZ02:1X5= 05

21 Se3STRRTOLETHOL,030 3eTRSCHYRE0I0 T, TONGT, 2012 TTTINZTetHRTHOFOBTY, S92
A) 5 OoHTF
B) 6 RwOonHTF
C) 7 ROBT
D) 8 ROonw®

WROTTY CIRT T WS T WIOTBRRONT?
A) w’%&bwomﬁ?
B) 2T
C) seo¥
D) evIoTHEeS
PTIT W3 VWZTD @%a’u&.
A) Bonys wsdsy
B) 0o80w Wity
C) p3-Tone® wedsey
D) oy wesey

FOROTOTLTAOTROT WOBTT, SFOR WFHE TWeErowow TR
DT BROMTHICNT SRR BONRT  FeosRoTmNGE?

A) i.@ﬁowés@, ii.eess, iii.e:so%w, iv,0800TE0.

B) ieed®, iisogFes, iiidedeset, iv,OR .

C) i.e:soj%w, ii.0e0NTEE, iii.@ﬁeww, iv.ees®.

D) i.2eD0=E, ii.@ﬁeww, iii.ee3®, iv.e:so%w‘.



5) EONT BARNYRY SeeR DY) ITHE RRRCBTY TSR
1.@6@)@63 %maé—dza%c@ %maé.
Z%smom:;a@s %m@é—ﬁmﬁ %mbé.
3.20220550038 %ma@—w%maoﬁo %maﬁ.
A) 1 @w3,
B) 2 =3 3 =%,
C)2 =ws,
D) 3 <3,

1L eswdsaasgac@wwmgmmozssaolwzw%m;@wm&aowa: 1X5=05

(FOTE0T,TRN,OOTRT, TRREED, FLALBRLFFTVOD, DY)

6) =T IR YT I3IRY g, VR QCINGS,
7) 93T [ene IR ST

8) ST T QO JRJTNG.

9) z%s:a# A0 TS gcswg BRFTNG.

10) imc%m WD — ID TREOT.

L $Snea8ro02edemo:1X5= 05

A) B)

11) 3nee=® - a) BoneRTH.

12) adme Q0.2.0F%° - b) w0l =,

13) womb3dgedssnc - ¢) PFT.

14) mnic® =R - d) HIRTIHELRN.
15) 2055 O - ) ©T T

-1 %dmmw@.
IV, 3$NST3nenfnomdSnemm.ommEm g 1X5= 05

16) HDI S=erorCnT=my, 89,

17) moZronsmenanictimoinid oo 33y ? RUNERR.

18) sHmeats omsess?

19) 5003T o3 TorgRy) WY AeTHRO JReITT, BeoRR?
20) EoERORE S0 S FOLNB IR ?

V.  3YNSSRYTRETRIDIZNAYR 2 008 3 wREneQuvg0:2X5=10

21) &sdﬁosns BITBRODH TR RTR TR @*&sa‘m”mol W30Ww0.
22) Qaeod HY oD SPFT FINONHT FTYTesd?



23) O3R)TETL TR aewwaadﬁﬁmﬁ%m.

24) FTBsonT, WBERNDT RSATRR)?

25) sertiTn UF, WOIYORE BRYTRTIR DTE T gdcsmfm& WBoW0.
26) 33002 SR, “PRTSE S50t Qomh F3Hey FTrITe?

27) TR THIH ¢UBy 0O, FwHTT $H0S FMedd Om,TT.0E?

28) 5ss oEnY Ty, TF0D &Dzsriefaﬁa‘;l 0.

VL %@hﬁo&r&@mdd@&%@%ﬁ@ﬁ 20 20w 25 TRFNFYULZ02:5X7=35
29) mmmmwmgcsmsmmﬁ%mawos_opqmmdsoﬁgmmwaz.
30) <o ORFQ) QOTTET? TRT= OR[QOH TRTETTY, BOB/> WA
31) ez SRGTNE @&33%30336:& Q=0
32) oo %550@3503: BITe3roDd g%goﬁoabd Q=0
33) WGJﬂoSaqﬁméjwas_gwams; TOFRTRNFRY, NWOA.
34) Rpemt S8 FedR Secndod TEhd g DI Lge3nvRy JFeal.
35) TEMONT IFNTFRY, B0 "oFTzwN W30%wD.
36) eT3nY Recd Weod mrdmen wd%@mﬂ&s asam@@mznm QWO
37) t=o3ng Bederdoho mowd ) LIFIHTY, DFOR.
38) m@ﬁo% mwF&odfagczSa’wd’ﬁmdeQa’aawmbs_:pméﬁwc%wbdwzpw@%oﬁabﬁ)83350§c&2).
39) $e08nYYSTORCLRTT = BTSN TRTOZR.
40) :‘o%de.—a@%t;poﬁo TOTOROBTY, @%ﬁ.ﬁ:%d@@%%oﬁo&m@md&awdmmmﬁeéabqawaz).

VIL  A) &NTodngmente.omI3gfuvgdr:5X1=5

41) 3R BRYTHT @03 WOINT TZVODNOT 20w TTY Seareded TR

LTS : TOTLRT ATOTO WEATVO=RHO®D @%g.
JIXENR 1951-61 | 1961-71 1971-81 | 1981-91 1991-01 | 2001-11
TTOROBCNTRG
325 41.9 52.2 53.6 61.6 65.8
(SRFRYY)




42) 3N ©0% ©Oo3NY FTOOBROT 2.0T BTY Foredesd TeR.

TRFTE TITR KTBoL(VTNFY)

TR wRHOS,
1951 194.0
1961 235.8
1971 292.6
1981 370.4
1991 448.2
2001 527.3
2011 611.3

B) $¢nsmgRevg02:10X1=10
43) BN wOs WOINTR, WYRBROR woTH FTeSed T

TS: Y WO g (3eTEmh)

zm:sﬂe;b Toore3T oY BN 933
3e3(SeERTOTh) 56.6 21.6 7.8 14.0
%Y

Slotovo)

BROT T ROBFAYRY, FHwen JFe.

(FyIFodBEmPENeRERS)
VIL  A) E&NFoingmemte.omb@gn20 0025 REneQuwgd: 5X1=5

41) PTITY 6T msﬁoar% BIT3rowomends 533%71@@4 QTOR.
42) IR BRoRT Wi 2BoW0.

B)$ensmg Revgos. 10X1=10

43) {RTUIT WTOTIOWRT 33 TOTIRONTTY, B0 JZOR.
(Slotovo)

%m@ﬁ m@&ea’dsacs eaozri%'fsbel TOBH 3.




Il PUC MODEL QUESTION PAPER-2023-24

GEOGRAPHY-24

TIME: 3 HOURS15 MINUTESTOTAL QUESTIONS-43 MAX MARKS: 80

Instructions:

1.

3.

5.

1. For question No 1-15 students are advised to give only one correct answer. In case the
students give more than one answer, onlythe first answer written by the student will be
considered.

2. Please substantiate your answers with suitable map, diagram, graphand data,..Etc, where ever

necessary.

3. For VISUALLY CHALLENGED STUDENTS alternative questions No 41, 42, and 43 (from
Section “B” of the textbook) are given at the end of the question paper.

Answer the following multiple-choice questions: 1X5=05
Population is growing rapidly in 21st century, if so, State the total population of the world
according to 2012.

A) 5 Billion

B) 6 Billion

C) 7 Billion

D) 8Billion
Which state in India has the highest density of population?

A) West Bengal

B) Bihar

C) Kerala

D) Uttar Pradesh
The Longest dam in India

A) Tungabhadra dam

B) Hirakud dam

C) Bhakra-Nangaldam

D) Alamatti dam
Which of these options show the correct ranking of coal from high grade to low grade
based on the carbon content?

A) i.Lignite, ii.Peat, iii.Anthracite, iv,Bituminous.

B) i.Peat, ii.Anthracite, iii.Bituminous, iv,Lignite.

C) i.Anthracite, ii.Bituminous, iii.Lignite, iv.Peat.

D) i.Bituminous, ii.Lignite, iii.Peat, iv.Anthracite.

Look at the following pairs and identify the incorrect pair.

1. Forest based industry-Rubber industry.
2. Agro-based Industry-Paper Industry.
3. Mineral based industry-Aluminum industry.
A) 1 only,
B) 2 and 3 only,
C) 2 only,
D) 3 only.



A)

Fill in the blanks by using the appropriate one given in the brackets: 1X5=05

(Black pepper, Hoogly, London, Rural, Temperate,Cardamom)

6.  Lumbering industry is developed in region.

7. The first million city in the world

8. is popularly known as ‘King of Spices’.

9. Biogas is used popularly in region in India.

10. The Kolkata port is located on the bank of river.
Match the followings: 1X5=05

B)

11. The Kirghiz a) Bangalore

12. ISRO MCF b) Bombay High.

13. An Educational City c) Hassan.

14. Sagar Samrat d) Central Asia.

15. Silicon City e) Oxford.

) Hyderabad.

IV.  Answer the following questions in one word or a sentence: 1X5= 05

16. Provide the full form of HDI.

17. Give reason why hunting was practiced traditionally?
18. What is a ‘megacity’?

19. Which state has the highest irrigated area in India?
20. What are the two main causes of water pollution?

V.  Answer any FIVE of the following questions in 2 to 3 sentences:2X5=10

21. Write any two components of population growth.

22. Distinguish between secondary and tertiary economic activities.

23. Define any two types ofirrigation.

24. What are the forms of utilization of solar energy?

25.  Write any two gold producing places in Karnataka.

26. Why Mumbai city is called “The Manchester of India”?

27. Why iron and steel industry isis called a raw material oriented industry?
28. Name the four types of road in India.

VI. Answer any SEVEN of the following questions in 20 to 25 sentences: 5X7= 35

29. List out the branches of human geography and describe them in brief.

30. What is human development? Discuss the measurement of human development.
31. Detail out the importance of mass communication.

32. Explain the trend of population growth in India.

33. Explain the positive and negative effects of migration.

34. Analyze the salient features and objectives of the Damodar River Valley Project.
35.  Write briefly about the types of agriculture.

36. Explain the geographical conditions required for the cultivation of wheat in India.
37. Explainthedistribution and production of petroleum in India.

38. Synthesize the development of iron and steel industry in India from pre independence to recent

time.
39.  Summarize the key development in railway transportation in India.

40. Define the concept of sustainable development and explain any five challenges of sustainable

development.



VII.  A) Answer any ONE of the following questions: 5X1=5
41. Construct a simple line graph with the help of following data.
India: The Trend of Male Average Life Expectancy
Years 1951-61 1961-71 | 1971-81 1981-91 1991-01 | 2001-11
Average life
Expectancy 32.5 41.9 52.2 53.6 61.6 65.8
(In years)

42. Construct a simple Bar graph with the help of following data.

Decadal growth of population in Karnataka.
Years Population(in lakhs)
1951 194.0
1961 235.8
1971 292.6
1981 370.4
1991 448.2
2001 527.3
2011 611.3

B) Answer the following question. 10X1=10

43. Construct a Pie diagram by using the following data.

India: Coffee Cultivating Area (in Percentage).
States Karnataka Kerala Tamilnadu Others
Are(in Percentage) 56.6 21.6 7.8 14.0

OR
Systematically analyze the functions of G.I.S.
(FOR VISUALLY CHALLENGED STUDENTS ONLY)

VII.  A) Answer any ONE of the following questions in 20 to 25 sentences:
41. Explain the problems caused by rapid growth of population in India.
42. Write about the rain water harvesting.
B) Answer the following question: 10X1=10
43. Explain the non-conventional energy resources of India.

OR
Discuss the factors which influence the location of the industry.
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5X1=5



